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1. (9 %) Under what circumstances should a c-chart be used in stead of a p-chart?
2. (6 %) What are the three major inputs to MRP? What are the three forms of output of MRP?

3. (15 %) The ABC Corporation has set a processing quota of eighty insurance claims per 8-hour
day. The claim process consists of five elements, which are detailed in Table 1. ABC has
decided to use an assembly line arrangement to process the forms and would like to make sure
they have set up the line in the most efficient fashion.

(a) (5 4") Construct a precedence diagram for the claims process and calculate the cycle time
required to meet the processing quota. [ % 1+ K842 » FAIAHH ]

(b) (5 ") Balance the assembly line using the ranked positional weight technique and show
your arrangement of workstations. [ 3% % % 4# B ranked positional weight technique & A2
A4 - FRAIFRHH)

(¢) (5 %) Calculate the efficiency of the line. [ 38 3} E@2 » F AR 4]

Table 1
Element Predecessor Performance Tine (inin.)
A ~
B A 5
C B 2
D A 1
E C,D 3

4. (10 %) Napa Valley Furniture Warehouse has purchased a retail outlet with six departments, as
shown in Grid 1. The anticipated number of customers that move between the departments
each week is given in the load summary chart.

(@) (5 %) Calculate the nonadjacent loads for the layout shown in Grid 1. HH I ES
2 BRIRH]
(b) (5 #°) Revise Napa’s layout (shown in Grid 1) such that nonadjacent loads are minimized.
(357§ #7 Layout £ & » 3t & i & nonadjacent loads » % Ay R+ 5-]

Load Summary Chart

To
From DEPARTMENT
DEPARTMENT A B C D E F
A 70 50
B 100
C 70
D 80 £n
E 40 30 £
¥ 60 100 /%’;"'
2.
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Grid 1

5. (10 4-) Marie works in a cosmetic factory filling, capping, and labeling bottles. She is asked to
process an average of 150 bottles per hour through her work cell. If one kanban is attached to
every container, a container holds 25 bottles, it takes 30 minutes to receive new bottles from the
previous workstation, and the factory uses a safety stock factor of 10 percent, how many
kanbans are needed for the bottling process? [ 5 H3tH B4 » TR AR 4]
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(10 2y — T R4]-F » 393 B 47 F #14R8 ¥ (Single-period “newsperson” or “newsboy”) #
T RERANER? [HHEERRANFEHET]

(10 4°)3 M 3k#2 L » Forward scheduling $ Backward scheduling 2 R 6544 ? [ M4 £
B 5 AH%T]]

(10 2) A 4THHs ¥ 2 A2 B b & # 7T R4 (Line of visibility) ? s AL R & - [## 5 K
AL AT ]

(10 2yt y| @€ A TERALUG W4 E iRt ? [(FHERRATARET]
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